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QUESTION 1

Which two networking requirements are true about the node types in a vRealized Operations (vVROps) cluster? (Choose
two.)

A. Analytics cluster nodes must be on separate VLANS as long as they are in the same cluster

B. All node types including remote collectors must be bi-directionally routable by IP address or FQDN
C. All vROps cluster node types must be configured with dynamic IP addresses

D. An underscore must NOT be included in the hostname of any cluster node

Correct Answer: BD

Reference https://docs.vmware.com/en/vRealize-Operations-Manager/6.5/vrealize-operations-manager65-linux-install-
guide.pdf (p.20)

QUESTION 2

Which two pieces of information can be found in the Cluster Management page of vRealize Operations?
(Choose two.)

A. Cluster Status

B. Virtual IP address

C. Integrated Load Balancer

D. Cluster Role

Correct Answer: AD

Reference: https://pubs.vmware.com/vrealizeoperationsmanager-6/index.jsp?topic=%
2Fcom.vmware.vcom.core.doc%2FGUID-9A8DA5B6-59B6-48B3-B6F4-46931D5230FB.html

QUESTION 3

Which out of the box Profile VM size can be used in a capacity project? (Choose the best answer.)
A. Small

B. Medium

C. Average

D. Large

Correct Answer: C
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QUESTION 4

Which two badges are Risk sub-badges? (Choose two.)
A. The Fault badge

B. The Capacity Remaining badge

C. The Anomaly badge

D. The stress badge

E. The Workload badge

Correct Answer: BD

Reference http://vmwaredevotee.com/2012/11/27/badges-in-vcenter-operations-manager/

QUESTION 5

A rebalance plan from the Rebalance Container action includes which three pieces of information? (Choose three.)
A. Destination cluster

B. Applications impacted

C. Time the virtual machine was last moved

D. Reason for move

E. Virtual machines to be moved

Correct Answer: ADE

Reference https://docs.vmware.com/en/vRealize-Operations-Manager/6.5/com.vmware.vcom.core.doc/
GUID-92F9F9E0-2D6F-487F-90DE-C5940EE43494.html
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